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WSIEEET 3,333,476
WIEEE 3,333,476
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BEERE 1,242,062
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EERAEE 2,066, 925
R ,066,925 x 78.3% — 5,327 1,613,075
REEBE ,066,925 + 1,613,075 3, 680, 000
=35 , 262,951 + 3,600 1,266, 551
BEEAGE 1,262, 951
BEERE 3,600
Z Ot R ,262,951 x 53.85% ( 35% + (1 — 35%) ) 680, 099
£ R ,266, 551 + 680, 099 1,946, 650
—REEES ,946,650 x 53.85% ( 35% = (1 — 35%) ) — 4, 921 1,043, 350
WETEBE ,946,650 + 1,043,350 2,990, 000
R4S ,680,000 + 2,990, 000 6, 670, 000
HERMEHELEE 670,000 x 10.00% 667, 000
BEEEEBIBHE ,670,000 + 667,000 7,337,000
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A 2.50 64, 800. 00 162, 000
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HEm (C)
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A 3.00 64, 800. 00 194, 400
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A 4.50 57, 000. 00 256, 500
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